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CLASS: 12
th

 (Sr. Secondary) 

Practice Paper 2022-23                               SET-B 

 

Roll No.  

गणित 
MATHEMATICS 

 

[Hindi and English Medium]  
(ACADEMIC/OPEN) 

 [ Time allowed: 3 hours]                [maximum Marks: 80] 
 कृऩमा जाॉच कय रें कक इस प्रश्न-ऩत्र भें भुद्रित ऩषृ्ठ 13 तथा प्रश्न 20 हैं I  
 Please make sure that the printed pages in this question 

paper are 13 in number and it contains 20 questions.  
 प्रश्न-ऩत्र भें  दाईं ओय द्रदए गए कोड नंबर  तथा सेट  को छात्र द्वाया 

उत्तय- ऩुस्ततका के भुख्म ऩषृ्ठ ऩय लरखा जाना चाद्रहए I  
 The Code No.  and Set on the right side of the question 

paper should be written by the candidate on the front page of 
the answer-book.  

 ककसी प्रश्न का उत्तय देना शुरू कयने से ऩहरे उसका क्रभाॊक लरखना होगा |  
 Before beginning to answer a question, its Serial Number must 

be written. 
 अऩनी उत्तय ऩुस्ततका भें खारी ऩषृ्ठ/ ऩषृ्ठ न छोड़ें I  
 Don’t leave blank page/pages in your answer-book.  
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 उत्तय-ऩुस्ततका के अततरयक्त कोई अन्म शीट नहीॊ दी जाएगी I अत: 
आवश्मकतानसुाय ही लरखें व लरखा उत्तय न काटें I  

 Except answer-book, no extra sheet will be given.Write to the 
point and do not strike off the written answer.  

 ऩयीऺाथी अऩना योर नॊफय प्रश्न-ऩत्र  ऩय अवश्म लरखें I  
 Candidates must write their Roll Number on the question 

paper. 
 कृऩमा प्रश्नों का उत्तय देने से ऩहरे मह सुतनस्श्चत कय रें कक प्रश्न-ऩत्र ऩूर्ण 

व सही है,ऩयीऺा के उऩयाॊत इस सॊफॊध भें कोई बी दावा तवीकाय नहीॊ ककमा 
जाएगा I 

 Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim in 
this regard,will be entertained after examination.  

सामान्य ननरे्दश: 
(i)इस प्रश्न-ऩत्र भें 20 प्रश्न हैं ,जो कक चाय खण्डों : अ,फ,स औय द भें फाॊटे गए 
हैं : 
खण्ड ‘अ’: इस खण्ड भें एक प्रश्न है जो 16 (i -xvi) बागों भें है ,स्जनभें 6 
बाग फहुववकल्ऩीम हैं I  प्रत्मेक बाग 1 अॊक का है I  
खण्ड ‘ब’ :इस खण्ड भें 2 से 11 तक कुर दस प्रश्न हैं I प्रत्मेक प्रश्न 2 अॊको 
का है I  
खण्ड ‘स’: इस खण्ड भें 12 से 16 तक कुर 5 प्रश्न हैं I प्रत्मेक प्रश्न 4 अॊकों 
का है I  
खण्ड ‘र्द’ : इस खण्ड भें 17 से 20 तक कुर 4 प्रश्न हैं I प्रत्मेक प्रश्न 6 अॊकों 
का है I 
(ii)सभी प्रश्न अननवायय हैं I 
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(iii)खण्ड ‘द’ के कुछ प्रश्नों भें आॊतरयक ववकल्ऩ द्रदए गए हैं ,उनभें से एक ही 
प्रश्न को चुनना है I  
(iv)द्रदमे गए ग्राप ऩेऩय को अऩनी उत्तय- ऩुस्ततका के साथ अवश्म नत्थी कयें I  
(v)ग्राप - ऩेऩय ऩय अऩनी उत्तय -ऩुस्ततका का क्रभाॊक अवश्म लरखें I  
(vi)कैरकुरेटय के प्रमोग की अनभुतत नहीॊ है I  
General Instructions : 
(i)This question paper consists of 20 questions which are divided 
into four sections : A,B,C and D : 
Section ‘A’ : This Section consists of  one question which is 
divided into 16 (i - xvi) parts of which 6 parts of multiple choice 
type. Each part carries 1 mark.  
Section ‘B’: This Section consists of ten questions from 2 to 11. 
Each question carries 2 marks.  
Section ‘C’: This Section consists of  five questions from 12 to 16. 
Each question carries 4 marks.  
Section ‘D’: This Section consists of  four questions from 17 to 
20. Each question carries 6 marks.  

(ii)All questions are compulsory.  
(iii)Section ‘D’ contains some questions where internal choices 
have been provided.Choose one of them. 
(iv)You must attach the given graph-paper along with your 
answer-book. 
(v)You must write your Answer-book Serial No. on the graph-
paper. 
(vi)Use of calculator is not permitted. 
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खण्ड –अ 

SECTION-A 

1.(i) यदर्द        𝑓: 𝑅 → 𝑅,   𝑓 𝑥 =    3 − 𝑥3 
1
3   ,द्वारा प्रर्दत्त 

 है,तो 𝒇 ∘ 𝒇(𝒙) बराबर है:                                                                1 

   (A)𝑥
1
3                           (B)𝑥3

 

   (C ) 𝑥                           (D) 3 − 𝑥3
                          

If   f: R → R    be given by     f x =    3 − x3 
1
3   then 𝑓 ∘ 𝑓(x) is  

 (A)𝑥
1
3                           (B)𝑥3

 

(C ) 𝑥                           (D) 3 − 𝑥3
 

 
(ii) tan−1  3 − sec−1 −2  का भान फयाफय है:               1 
(A) 𝜋             (B)

−𝜋

3
 

(C) 

𝜋

3
             (D)

2𝜋

3
 

 

   tan−1  3 − sec−1 −2  is equal to           

 (A) 𝜋             (B)

−𝜋

3
 

  (C) 

𝜋

3
             (D)

2𝜋

3
 

 

(iii) A= 
cos 𝛼 − sin 𝛼
sin 𝛼 cos 𝛼

 तथा A+A’ =Ι,तो α का भान है:                     1 

(A)𝜋
6
           (B)π

3
 

(C)π           (D)3π

2
 

 If A= 
cos 𝛼 − sin 𝛼
sin 𝛼 cos 𝛼

 ,        then A+A’ = Ι,If the value of 𝛼 is 

(A)𝜋
6
           (B)π

3
 

(C)π           (D)3π

2
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 (iv)मद्रद शीषण (2,-6),(5,4)and (k,4) वारे त्रत्रबुज का ऺेत्रपर 35 वगण 
इकाई हो तो k का भान है :                                       1 

(A) 12                  (B)-2 
(C)-12,-2              (D)12,-2 

 
 If  area of the triangle  is    35  sq units      with vertices              
(2,-6),(5,4)and (k,4). Then k is  

(A) 12                  (B)-2 
(C)-12,-2              (D)12,-2 
 

(v) 𝑒sin −1 𝑥  का x के साऩेऺ अवकरन कीस्जए I              1 

Differentiate 𝑒sin −1 𝑥  w.r.t. x  
 

(vi)एक वतृ्त की त्रत्रज्मा r=6cmऩय r के साऩेऺ ऺेत्रपर भें 
ऩरयवतणन की दय है :                                   1 

(A) 10𝜋                                    (B) 12𝜋  
( C) 8 𝜋                                     (D)11𝜋 

 
The rate of change of the area of a circle with respect to its 
radius r at r=6 cm is  

(B)  10𝜋                                  (B) 12𝜋 
( C) 8 𝜋                                     (D)11𝜋 

 

(vii)वक्र 𝑦 = 2𝑥2 + 3 sin 𝑥 के  𝑥 = 0  ऩय अलबरॊफ की 
प्रवर्ता है_________________                                               1 
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The slope of the normal to the curve  
𝑦 = 2𝑥2 + 3 sin 𝑥 𝑎𝑡 𝑥 = 0  is__________________ 

(viii)  log 𝑥 𝑑𝑥  ऻात कीस्जएI                                                           1 

 Find  log 𝑥 𝑑𝑥 . 

(ix)   𝑥3 + 𝑥 𝑐𝑜𝑠𝑥 + tan5 𝑥 + 1 𝑑𝑥 
𝜋

2
−𝜋

2

 का भान है________1                

The value of   𝑥3 + 𝑥 𝑐𝑜𝑠𝑥 + tan5 𝑥 + 1 𝑑𝑥 
𝜋

2
−𝜋

2

 is__________     

(x)अवकर सभीकयर्  
𝑑4 𝑦

𝑑𝑥4    - sin  
𝑑3𝑦

𝑑𝑥3 =0 की घात ऻात 
कीस्जए I                                                                                            1 

    Indicate the degree of differential equation 

 
𝑑4 𝑦

𝑑𝑥4    - sin  
𝑑3𝑦

𝑑𝑥3 =0 

 

(xi)अवकर सभीकयर् 𝑥
𝑑𝑦

𝑑𝑥
− 𝑦 = 2𝑥2 का सभाकरन गरु्क 

ऻात कीस्जए I                                                                                       1 
 Determine the Integrating Factor of the differential equation 

𝑥
𝑑𝑦

𝑑𝑥
− 𝑦 = 2𝑥2   

(xii)सद्रदश 𝑖  + 3𝑗  + 7𝑘     का सद्रदश 7 𝑖  − 𝑗  + 8𝑘  ऩय प्रऺेऩ 
ऻात कीस्जए I                                                                                      1 

Find the projection of the vector    𝑖  + 3𝑗  + 7𝑘    on the vector   

7 𝑖  − 𝑗  + 8𝑘 . 
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(xiii)त्रफ ॊदओुॊ (-1,0,2) and (3,4,6)से होकय जाने वारी येखा का                                                                    
सद्रदश सभीकयर् ऻात कीस्जए I                                                        1 

Find the vector equation for the line passing through the points 
(-1,0,2) and (3,4,6). 
 

(xiv)मद्रद A औय  B दो ऐसी घटनाएॉ हैं कक  P(A)≠ 0 औय    

 P(B/A) =1,तफ                                                                                      1                                                    

(A) A⊂ B             (B)B⊂ A 
(C) B=𝜙               (D) A = 𝜙   

  
If A and B are two events such that P(A)≠ 0 and     
   P(B/A) =1,then  

(B) A⊂ B             (B)B⊂ A 
(C) B=𝜙               (D) A = 𝜙  

 

(xv)A   औय  B तवतॊत्र घटनाएॉ दी गई हैं जहाॉ                   1 
P(A)= 0.3, P(B)=0.6  तो    P(A मा  B) का भान ऻात कीस्जए I 

 Given two independent events A and B such that 
 P(A)= 0.3, P(B)=0.6  .    Find P(A or B) 

 

(xvi)एक मादृस्छछक चय X का प्रातमकता फॊटन नीचे द्रदमा गमा 
है तो k का भान ऻात कीस्जए :                         1 
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 For the following probability distribution of a random variable       
X, Determine the value of k     

 
 
 

खण्ड-फ 

SECTION-B 

2.दशाणइए कक द्ववआधायी सॊकक्रमा ∗: 𝑁 × 𝑁 →   𝑁              2 
साहचमण नहीॊ है जहाॉ 𝑎 ∗ 𝑏 = 𝑎2 + 𝑏2       है I 
Show that the binary operation ∗: 𝑁 × 𝑁 →   𝑁  given by 
𝑎 ∗ 𝑏 = 𝑎2 + 𝑏2      is    not   associative. 
 

3.लसद्ध कीस्जए tan−1 63

16
= sin−1 5

13
+ cos−1 3

5
                            2 

Prove that tan−1 63

16
= sin−1 5

13
+ cos−1 3

5
 

 

4.मद्रद A= 
3 −2
4 −2

  तथा Ι= 1 0
0 1

 एवॊ A2 =k A -2 Ι                        2 

हो तो k का भान ऻात कीस्जए I 
 

 If A= 
3 −2
4 −2

  and Ι= 
1 0
0 1

 , find k so that A2 =k A -2 Ι 

 

5.मद्रद A = 
1 2
4 2

   ,  तो द्रदखाइए कक  2 𝐴 = 4 𝐴      
 

If A = 
1 2
4 2

 , then show that  2 𝐴 = 4 𝐴                                   2 
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6.मद्रद f(x) =            
𝑘 cos 𝑥

𝜋−2𝑥
 , मद्रद 𝑥 ≠

𝜋

2
         द्वाया ऩरयबावषत                                                                                                                                                                                                                  

                                      3,     मद्रद  𝑥 = 
𝜋

2
  

परन 𝑥 =
𝜋

2
   ऩय सॊतत हो तो k का भान ऻात कीस्जए I         2 

 

 Find the value of k so that the function f is continuous at 𝑥 =
𝜋

2
  

and f(x) =            
𝑘 cos 𝑥

𝜋−2𝑥
 , if 𝑥 ≠

𝜋

2
                                                                                                                                                                           

                             3    ,    if 𝑥 = 
𝜋

2
  

7.मद्रद sin2 𝑥 + cos2 𝑦 = 1 हो  तो 𝑑𝑦

𝑑𝑥
  ऻात कीस्जए I          2 

Find  
𝑑𝑦

𝑑𝑥
  if sin2 𝑥 + cos2 𝑦 = 1  

 

8.परन cos 2𝑥

 cos 𝑥+sin 𝑥  2   का सभाकरन ऻात कीस्जए I            2 
 Find the integral of the function     

cos 2𝑥

 cos 𝑥+sin 𝑥  2   

9.सभाकरन      𝑥 − 1 
4

0
𝑑𝑥 का भान ऻात कीस्जए  

Evaluate  the integral   𝑥 − 1 
4

0
𝑑𝑥                                                 2 

10.अवकर सभीकयर्    
𝑑𝑦

𝑑𝑥
= 𝑒𝑥+𝑦   का व्माऩक हर ऻात 

कीस्जएI                                                2 
 find the general solution of the differential  equation 

 𝑑𝑦

𝑑𝑥
= 𝑒𝑥+𝑦  
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11.एक ववशेष सभतमा को A औय B द्वाया तवतॊत्र रूऩ से हर 
कयने की प्रातमकताएॉ क्रभशः 1

2
   औय  

1 

3
   हैंI मद्रद दोनों, तवतॊत्र 

रूऩ से ,सभतमा हर कयने का प्रमास कयत ेहैं ,तो प्रातमकता 
ऻात कीस्जए कक उनभें से तथ्म: कोई एक सभतमा हर कय 
रेता है I                                                2 
 Probability of solving specific problem independently by A and 

B are   
1

2
   and 

1 

3
   respectively. If both try to solve the problem 

independently, find the probability that exactly one of them 
solves the problem. 

खण्ड-स 

SECTION-C 
12.लसद्ध कीस्जए कक                                                                              4 

 cot−1  
 1+sin 𝑥+ 1−𝑠𝑖𝑛𝑥

 1+sin 𝑥− 1−𝑠𝑖𝑛𝑥
 =

𝑥

2
  , 𝑥 ∈  0,

𝜋

4
  

 

 Prove that   cot−1  
 1+sin 𝑥+ 1−𝑠𝑖𝑛𝑥

 1+sin 𝑥− 1−𝑠𝑖𝑛𝑥
 =

𝑥

2
  , 𝑥 ∈  0,

𝜋

4
  

13. परन   𝑥𝑦 = 𝑒 𝑥−𝑦   के लरए  𝑑𝑦

𝑑𝑥
  ऻात                

कीस्जए I                                                                                               4  

 Find 
𝑑𝑦

𝑑𝑥
  of the function 𝑥𝑦 = 𝑒 𝑥−𝑦  

 

14. ऐसी दो धनात्भक सॊख्मामें x औय y ऻात कीस्जए ताकक  

 x +y =60 औय xy3 उछचतभ हो I                                              4 
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 Find two positive numbers x and y such that x+y =60 and xy3 is 
maximum. 

15.मद्रद 𝑎 , 𝑏 , 𝑐  भात्रक सद्रदश इस प्रकाय है कक 
𝑎 + 𝑏 + 𝑐 = 0 , तो  𝑎 . 𝑏 + 𝑏 . 𝑐 + 𝑐 . 𝑎   का भान ऻात कीस्जएI  

 If 𝑎 , 𝑏 , 𝑐  are unit vectors such that 𝑎 + 𝑏 + 𝑐 = 0 , find the 

value of 𝑎 . 𝑏 + 𝑏 . 𝑐 + 𝑐 . 𝑎                                                                 4 

16.एक व्मस्क्त के फाये भें ऻात है कक वह 4 भें से 3 फाय सत्म 
फोरता है I वह एक ऩासे को उछारता है औय फतराता है कक 
उस ऩय आने वारी सॊख्मा 6 है I इस की प्रातमकता ऻात 
कीस्जए कक ऩासे ऩय आने वारी सॊख्मा वाततव भें 6 हैI            4 

 A man is known to speak truth 3 out of 4 times. He throws a 
die and reports that it is a six. Find the probability that it is 
actually a six. 

खण्ड-द 

SECTION-D 
 

17. मद्रद A= 
2 −3 5
3 2 −4
1 1 −2

 ,तो  A-1 ऻात कीस्जएI , A-1 का प्रमोग 

कयके तनम्नलरखखत सभीकयर् तनकाम को हर कीस्जए:    

            2x-3y+5z=11 
                       3x+2y-4z=-5 
                          x+y-2z=-3 
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If A= 
2 −3 5
3 2 −4
1 1 −2

 ,find A-1 ,using A-1 solve the system of 

equations     2x-3y+5z=11                                                                  6 
                    3x+2y-4z=-5 
                    x+y-2z=-3 

18.ऩयवरम  y=x2 एवॊ y= IxI से तघये ऺेत्र का ऺेत्रपर ऻात 
कीस्जएI                                                                                                 6 

Find the area of the region bounded by the parabola y=x2 and 
y= IxI                       

अथवा 
OR 

दीघण वतृ्त 𝑥2

9
+

𝑦2

4
= 1  औय येखा  

𝑥

3
+

𝑦

2
= 1 से तघये रघु ऺेत्र 

का ऺेत्रपर ऻात कीस्जएI  

Find the area of the smaller region bounded by the ellipse 
𝑥2

9
+

𝑦2

4
= 1  and the line 

𝑥

3
+

𝑦

2
= 1  

19. येखाएॉ ,स्जनकी सद्रदश सभीकयर् तनम्नलरखखत हैं,के फीच की 
न्मूनतभ दयूी ऻात कीस्जए:                                                                6 

   𝑟 =  1 − 𝑡 𝑖 +  𝑡 − 2 𝑗 +  3 − 2𝑡 𝑘   औय                           

 𝑟  =  𝑠 + 1 𝑖 +  2𝑠 − 1 𝑗 −  2𝑠 + 1 𝑘      
 
 Find the shortest distance between the lines whose vector         

equations     are       𝑟 =  1 − 𝑡 𝑖 +  𝑡 − 2 𝑗 +  3 − 2𝑡 𝑘     

and                 𝑟  =  𝑠 + 1 𝑖 +  2𝑠 − 1 𝑗 −  2𝑠 + 1 𝑘      
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अथवा 
OR 

उस तर का सभीकयर् ऻात कीस्जए स्जसभें (1,-1,2) अॊतववणष्ट 

है औय जो सभतरों 2x+3y-2z=5  औय  x+2y-3z =8  भें से प्रत्मेक 
ऩय रॊफ है I 
Find the equation of the plane that contains the point (1,-1,2) 
and is perpendicular to each of the planes   
2x+3y-2z=5 and x+2y-3z =8  
 

20.आरेखीम ववधध से तनम्न सभतमा को हर कीस्जए:              6 

तनम्न व्मवयोधों के अॊतगणत :  x+3y ≤ 60,………………(1) 

                                                 x +y ≥ 10,………………..(2) 
                                                 x   ≤ y ,……………………..(3) 
                                                 x  ≥ 0,y≥ 0………………(4) 

 Z=3x +9y  का न्मूनतभ औय अधधकतभ भान ऻात कीस्जए I  

 Solve the following problem graphically: 
Minimise and maximise Z=3x +9y 
Subject to the constraints:  x+3y ≤ 60,………………(1) 
                                                 x + y ≥ 10,………………..(2) 
                                                 x   ≤ y ,……………………..(3) 
                                                 x  ≥ 0,y≥ 0………………(4) 

 
 


